Chromosome 7

N

=
ol

o
&

bits
|_\
IIIIIIIIIIIIIIIIIIIIIIIII

o

N

=
o

bits
o
(6)] =
IIIIIIIIIIIIIIIIIIIIIIIII

o

N

=
ol

o
[

bits
|_\
IIIIIIIIIIIIIIIIIIIIIIIII

o

N

=
ol

o
&

bits
|_\
IIIIIIIIIIIIIIIIIIIIIIIII

o

N

=
ol

o
&

bits
H
IIIIIIIIIIIIIIIIIIIIIIIII

o

C_ IFE

p14.3

I < |

Hsapiens—-HOCOMOCOv11-core-C-ZN770_HUMAN.H11MO.0.C-:rc

[ B | q31.1

|
~

\—r—

P —

- o=
|
|

cCr

+
Mn

T
7 8 9 10 11 12 13 14 15 16
Hsapiens—-HOCOMOCOv11-secondary-D-TBX15 HUMAN.H11MO.0.D-:rc

Il B N

34

1

T T T T T T =T
6 7 8 9 10 11 12 13 14 15 16 17
Hsapiens—-HOCOMOCOv11-secondary—-D-ZN148 HUMAN.H11MO.0.D-:rc

| 1
< < _
T =T | — 1 |
) 7 8 9 10 11 12 13 14 15
Hsapiens—-HOCOMOCOv1l1l-secondary—-A-MAZ HUMAN.H11MO.1.A-:rc
|
|
|
|
o Ny =
T 1 I |
. 6 9 10 11
Hsapiens—-HOCOMOCOv11-core-B-SALL4 HUMAN.H11MO.0.B-:rc
! I
! I
! I
! I
A 1 W}
' \——
I | €< - «— « —
T I R L
5 6 7 8 9 10
ZN770_motif
TBX15_motif
ZN148 motif
MAZ_motif
SALL4 motif
T C C T C C C T C C C T C C C T C C C T T
T C C T C C C T C C T T C C C T C C C T T

105692430

105692440

105692450




